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OZA0H (YA &4 5)
75,8008 18 x4 5,458
203 YR F XY 4,200 4,200 0
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25,000,000 14l 25,000
OFH2 AZE0I2 & E42AM

20,000,000 14l 20,000
OF2 2ZaH ZHZA 30,000,000 14! 30,000
OXAE Ltalote or2l THZ &2 AH(L=800m)

40,000,000 » 14l 40,000
OXNE SI2~tha Zolz &I XT AH(L=250m)

30,000,000 »14l 30,000
OYAM ZX0t2 NMAE HHl AFY (L=40m)

40,000,000 » 14l 40,000
QYN S20I2 &8 EX2AHEEHI1S)

20,000,000 15 20,000
O8g det UHEAHT 2 B2 AHL=152m)

25,000,000 14l 25,000

30,000,000 * 141 30,000
ORY SS0HE 228 ZHBM

150,000, 0002 * 14! 150,000
ORz S4ANSHB AEJA(IZ 15)

100,000, 0002 * 14! 100,000
O=4 4JI02 242 =X T AH(L=90m)

30,000,000 * 141 30,000
O+ YIH0SEB 22LYBA

30,000,0008 *15 30,000
O2F BE0I2 M2 HCHY EXBAH(L=2

40m) 20,000,000 *14! 20,000

OR= H&0S 92 THEF 2 AHL=500m)

40,000,000& » 14! 40,000
ORZ N2t OF40IS HHEX

20,000,000 * 14! 20,000
ORT A& HMAILEX 20,000,000 *14] 20,000
ONEMLAY DIZSNLYS

20,000,000 *14! 20,000
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Onr2o2 o AU2EY S FHBA
320,000,000& 14 320,000
Oltsaa 2+ 5 U SA
30,000,000 *50H A 150,000
03 A& S THHI 4,734 4,379 355
OxA2qANY A& 20
1,315,000, 000% *0.36/100 4,734
AL H =AY 1,734,490 1,641,470 93,020
< 200,000
i 1,534,490
SAAHEEZ HE 1,103,960 905,040 198,920
401 Al HIZ 201 Y] 1,103,960 905,040 198,920
01 A& HI 1,100,000 900,000 200,000
OMEZAAEETZ (MZOIIIE-B2 W3 )HA
A 300,000,000& 14 300,000
ONS TAHEEZ2(AZBSLH-SFUHE)MEAM
A 300,000,000& 14 300,000
ORY TAAHECZ(ES-MISRA)NEAY
200,000,000& 14 200,000
ORY TANAHEC=Z(ZSS-UH2S)HE MY
200,000,000& 14 200,000
OZANZYH S2HYERX DI2EXNELES
100,000, 000& * 14! 100,000
03 AlE 2 THHI 3,960 5,040 A1,080
OEAMASEZ MHEAMY AL
1,100,000,000& *0.36/100 3,960
SANHEANEE A2 200,000 105,000 95,000
401 AIEHI L 20HEI 200,000 105,000 95,000
01 A& HI 200,000 105,000 95,000
OZAIAE AlEE SR 22l
15,000,000& *109H A& 150,000
O2g AJLAI €Al EXAIE &X
25,000,000& *2H A 50,000
SAAHECZ2HE(EX) 402,880 603,780 200,900
< 200,000
s 202,880
401 AIEHI L 20 402,880 603, 780 A200,900
< 200,000
[ia 202,880
01 A& Bl 400,000 600,000 200,000
ORY SAHEZZ2(RHA2~GILIZOIE) NN
gAY 400,000,000 =14 400,000
< 200,000
s 200,000
03 Al 2 0HHI 2,880 3,780 A 900
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Z2NE 22| 27,650 27,650 0
201 LBt ]| 7,650 7,650 0
01 AP 22| H| 2,250 2,250 0
O=2Y Z21NsS Ad|l &4 7 1,690,000 1,690
OZDE ol L CINANAAS && 25
70,000 x4H «2 3] 560
02 222%4| 5,400 5,400 0
Oo2td &2 Xy M2 450,000& ~12& 5,400
401 AlEHIZ 2 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
O8x+2 XNEAHAU SX22]
20,000,000 14! 20,000
D0 HREBA(HIOEHUNWXNEAESS H) 346,885 408,467 N61,582
2|0 & & O X2 A 346,885 408,467 AN61,582
401 Al HI L E0HHI 346,885 408,467 AN61,582
01 A& H| 346,885 408,467 N61,582
O=ZEHEYH 28 HIIDIEH W24 14
346,885,000 14! 346,885
ALy (et Iy /AL - HE X)) 47,776 44 026 3,750
AdMHO ag5H 22| 47,776 44,026 3,750
ZHE EH D} 4,200 3,000 1,200
202 o4l 4,200 3,000 1,200
01 2Ll 4,200 3,000 1,200
OBAEO HEXA ]
20,000& *3Y 7L x 10 4,200
253 0l 43,576 41,026 2,550
101 Q124 H| 7,144 5,126 2,018
04 JI2ZtHIZ2 2 ANEES 7,144 5,126 2,018
OB4 o SIHHMRYS Y
41,6803 x1H x26 Y +6& 6,503
(@ZINE=R=:N= 6,503,000 *0.0985 641
201 et Y| 33,432 32,400 1,032
01 AP 22| d| 26,400 25,200 1,200
O=ZS M 2= =2 280,000& 302 X 8,400
OEXNED =42 15,000& =100 X x12& 18,000
02 2=2=2494| 7,032 7,200 A\ 168
OBMZ2 RHESIIE 1,930& 2004 12& 4,632
OBaMITZ=Z2 )2 S X234 200,000& x12& 2,400
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